[BEHI]u Sv/h
CRIE#28]14") 7 /8L Rk &4t A2700

_ AEH _
= e &% BIE B AIEZET | HEDIKEE
Tm 50cm 5cm
1 E—INER 18208 0.05 0.05 005 4JIUF +
2| BEINVERR 18208 0.06 0.06 006 | YIIUK +
S|EZINER 18198 0.05 0.05 005 | 4FI9UF +
4| NS 18236 0.04 0.04 004 | FIIUF +
5| i#db/NEAR 18138 0.03 0.03 003 | YUK +
6| Fritk VAR 1H6R 0.04 0.03 003 | 4JI9UF +
7L B T/INERR 18158 0.05 0.05 005 4HI9UF +
8| & EFIL/NERR 18208 0.06 0.06 006 | 4YIIUF +
9| R F /MR 18238 0.05 0.06 006 | YIIUF +
10L& R/NFRR 18198 0.05 0.05 005 | 4JI9UF +
1 FIRINER 1A98 0.08 0.08 009 | 4YIUF +
12/ 3 AR /N2 18148 0.06 0.06 005| 4J39 Uk +
13| fiEm/ 18148 0.06 0.06 006 YIIUF x
1 BBRFPER 18208 0.05 0.05 005 | 4J359UF +
2|t 2 18198 0.10 0.09 010 | Y39k +
E 3|tk ER 1H198 0.08 0.08 009 | Y3k +
; 4L E PR 18148 0.07 0.07 008 | YUK +
5 AFRHFFRK 18208 0.05 0.05 006 | 4JIIUF +
6| B 1L 18208 0.05 0.05 005 4J359UF +
o B 1IRFMNEEREE 18 28H 0.15 0.15 0.15 |  Hithehs FRAI7 Ik
% E 2EHLNEEREE 1H288 0.06 0.06 0.06 Eithrh g +*
= J=INFEREE 1828H 0.07 0.07 007 | AOfR | AA)LLUAH
111EFREE 18168 0.05 0.05 0.05 ERE x
<5 2 XLEREER 18150 0.09 0.09 0.09 ERE +
v IFHREE 1A15H 0.05 0.06 0.08 ) t
=®= 4R REE 1816H 0.07 0.09 0.11 ERE I
B 5 EHUCIREE 18168 0.05 0.04 0.04 Bk +
6 Mt e REE 1A16H 0.07 0.07 0.07 Bl t
F 10L& 1815H 0.06 0.06 0.07 th 3 +
B|CELHRELI— 1814H 0.05 0.07 0.06 g X2
1L REE 18168 0.05 0.05 0.05 ERE +
2 mEERERE 1H16H 0.07 0.07 0.07 ERE +
IEERER 18168 0.13 0.12 0.09 ERE AIZ
A BIREE 18158 0.05 0.06 0.07 BERE x
FA 5| MERER 18168 0.06 0.08 0.09 B +
iva 6 HHEREE 18198 0.06 0.06 0.06 ERE +
£ 1 REANEREER 18198 0.10 0.08 0.08 ElRE +
] 8 INEELFAEHBEEE 18168 0.05 0.05 0.05 B +
9TV IUHEEER 1815H 0.06 0.06 0.06 ERE +
10 DIEHREE 1A16H 0.06 0.06 0.07 E3)z3 +
1 EBMEER 18198 0.06 0.06 0.06 ERE Zh
12| [F 2,5V RHUCREER 1H16H 0.05 0.05 0.07 ERE AIZ
BREAXKLREER 18168 0.04 0.04 0.04 EBE AIZ
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S HlE S
N fok WER FEE MRS | HEOKE
m 50cm 5cm
1 OIEZHHE-DIEZDHREE 18168 0.13 0.13 0.13 BB x
2 UMY HFHE 1819H 0.07 0.06 0.06 ERE Lk
IEEYNHE 18198 0.06 0.05 0.06 ERE +
4L B HFHE 18238 0.07 0.07 0.07 EiE +
4 583t BT S5 HE 1A198 0.07 0.06 0.06 EE *
é 6 O SHE 18208 0.06 0.07 0.08 B +
1 _EEHHE 18158 0.05 0.05 0.06 ERE x
8| T—TILYHE 18198 0.05 0.05 0.05 ERE +
9| XL D HE 18236 0.06 0.07 0.07 ERE +
10 kB HHE 18168 0.05 0.05 0.06 ERE *
1 EBRFREORAR 11 A48 - 0.07 = R B
QEBRTFRAmOELAR 11A48 - 0.06 - g "
3 XLE2ELE 11A7H = 0.09 = Fhg E(2/14~1)
4 KXLEFAESLE 11A7H - 0.10 - R +
=[1TE 47N 11R108 = 0.07 = R FRAI7IVE
6| HFBF S NHLVLIE 11RA4AH - 0.11 - th#f avy—k
1 BB FEBEAR 11RA4H = 0.06 - thf +-B(2/14~1)
8 BB FHEAR 11RA4H - 0.07 - Rk -
9 FHIBLE 11A5H = 0.15 = hR +
10 EHEEH AR 11A6H - 0.04 - g "
M ARFEMARNE 11A7H = 0.07 - thf =1
12| EBMRAE 11A6H 0.09 - R +
13 EFELDLELIS 11A7H = 0.06 = hf B
B EBRFHELLE 11 A48 - 0.08 - PR +
15 BBRFHERLE 11A6H - 0.09 = R *
16| BILHEAR 11868 - 0.12 - R +
17| fELIES AR 11878 = 0.06 - g B
= 18 AL ERIFF A E 11A6H - 0.07 - g "
19 AFERHITEOLR 11A7H = 0.07 = R EH(2/14~1)
20| ZELE 11A6H - 0.09 - g "
21 BT ENE 11A78 = 0.17 - R =1
22| EWAENE 11A5H - 0.09 - thf {o8—ayEy
23|HiK1EAE 11A7H = 0.07 = hf B
24| FNF XX E 11A58 - 0.06 - eF 3 "
BIRFEFARELE 11A7H - 0.07 = eF 3 =
26 \RFEFARILLE 11A78 - 0.07 - thf B
21 {BFEFARELE 11878 = 0.08 - thf =
28| EALE 11A6H - 0.08 - g "
29| EHELAE 11A6H = 0.07 - REHRR E(2/14~1)
30 XLE3ELAHE 11A68 - 0.05 - R +
31| K LE5ELE 11A6H = 0.05 - IRigHR x
32| K LE6 S E 11A6H N 0.09 - IREHhR T-&®
B AKLEF7TELE 11A6H = 0.07 = hf B
34| KLEFVA/FNE 11A7H - 0.07 - hR +
3B|IRF LRENE 11A68 = 0.18 - ILigHR T-®
36 LERIFIL N E 11A6R - 0.06 - thf B
37| ERIEFE B 11A6H - 0.09 = hf JLFYTHE
BEFERAE 11A6H - 0.15 - BERR | 1rs—nvky
I HEBFVELSAE 11448 = 0.09 - IRigHR +
0 BBRFHIILE 11R48 - 0.08 - ILighR +
N EBRFEELE 11848 = 0.08 - h g avyy—k
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= Bl =
N fok MER FEE HEBF | HEORE
m 50cm 5cm
2 BERFREAE 11848 - 0.11 - th x
43 8L LE 118108 = 0.13 - REHR +
4 mFIaE 11A6H - 0.11 - IREhR W
45 P LEDH B LE 11A6H - 0.10 - RERR *
46 BILFE N E 118108 - 0.15 - BEERYO =
47|81l E 11A108 = 0.16 - IRigHR x
48 HILEELE 118108 - 0.15 - BT +
HIAFRHITLEAHLE 11A7H = 0.06 - IRiGRR =
50 XLE1 S AE 11A7H - 0.08 - hR *
51| RFILAE 11A6H - 0.10 = eF 3 =
I 52| RFILE AR 1186H - 0.14 - thg =1
53 ZHE—1E 11H6H - 0.07 - hf =1
R 54| EFRAE 11A78 - 0.09 - HR x
¥ 55| R3S /N E 11A78 = 0.09 = PSS K
% 56| i R4S E 11A78 - 0.07 - R *
sl 57 LRSS AR 11A78 - 0.08 - ik =
it D 1ATE REYY I B
X 59| FFDHAE 11A5H = 0.10 = Rk +
T IREEN 11858 T oos T aa +
61| B2 AE 118108 - 0.06 = eF 3 =
62| i AR2S/ANE 11878 - 0.07 - R =1
63|1=1T D L5 11A5H = 0.06 = R +
64 KL ANE 11A5H - 0.18 - Rk +
65|LoSENE 11A5H - 0.06 = 2eF 3 "
66| RELE 11A5H - 0.09 - R =
67 FELE 11858 - 0.08 - R =1
68| KIER L E 11858 - 0.08 - b =1
69| BB LAE 11A5H = 0.04 = ik B
10| XED L5 11A5H - 0.12 - g "
71| &Lk A E 11A5H - 0.04 = eF 3 =
72| AL AR 118108 - 0.07 - thf B
13| EBEhRAE 118118 = 0.08 = R =
14| EIEERLE 118118 - 0.06 - th E(2/14~%)
75| RiEE AR 1MA1H = 0.17 = ik "
76| G EEAE 118108 - 0.11 - g =
7N RXEEBLE 118108 = 0.11 - SAESHEER +
N B RXEEELE 118108 N 0.11 - R +
79 £ ARAE 11848 - 0.16 - CE &
o 80| RCALLAE 11A4H - 0.15 - EE{hA *
9£ 81| R2EE 11R48 = 0.08 = R +
N 82| R4S NE 11848 - 0.07 - R E(2/14~1)
;1_,, 83| 2B/ 1 ELE 11A5H - 0.07 = b B
X 84| 2B R2ELE 11A5H - 0.07 - PR "
— 85 2B RIS NE 11A5H = 0.06 = 2eF 3 "
86 XEHRAENE 11A5H - 0.07 - R =
87 2B ASELNE 11858 - 0.14 - thf +
88 ZH 6B LAE 11RA4AH N 0.09 - R +
89 RHATELE 11RA4H = 0.15 = Rk +
0 FLEFRAE 118108 - 0.09 - R *
91 FLEAELE 11R108 = 0.08 = R +
92| BRI ALE 11A58 - 0.14 - =3 =
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= Bl =
N fok MER FEE HEBF | HEORE
m 50cm 5cm
93| ETLE 11RA58 = 0.10 - h g avy—k
9% BEEHLE 118108 N 0.07 - thf =
95| TR EAAE 118108 = 0.15 = Rk =
9% TrR15AE 118108 - 0.12 - R *
97 REBRFSELE 118108 - 0.07 = thg *
98| HEHLE 118108 - 0.07 - th x
99 RISAE 11 A48 - 0.07 - thf =3
100 R3IELAE 11RA4H - 0.04 - Rk d
101 R55 A E 11 A48 = 0.11 = Rk +
102/ R6SAE 11848 - 0.10 - hiR +
103 R1EAE 11848 = 0.09 - R B
104| RS A E 11848 N 0.07 - R =
105 ROBAE 11RA48 = 0.08 = Rk =
" 106/ R10ELE 11848 - 0.08 - P JLAEHE
107 RELE 11848 - 0.10 = P I g%
P 108 /NEAE 11848 - 0.06 - hREA =
Pl 109 HBRFERAE 11A5H s 0.17 - #EfHE ILAEE
E 110 =5 ILAMAR 11A5H - 0.10 -| WERGHR *
5 EREEMEA: 11858 N 0.08 - gk +
i 12|t A E 11A58 - 0.06 - R T-E
=S 113 FEtE R AR 11858 - 0.15 = b B
T ROErE 11858 - o B =
15| FILAEEAE 118108 - 0.11 - th +
16| REBRLE 118108 - 0.09 - thf +
17 2 EFILATR AR 11RA58 = 0.09 = R *
M8 REBRFISLARE 118108 - 0.05 - s B
MY REFBFISLE 11A5H - 0.12 - thf +
120 REFZF2E5 0 E 118108 - 0.08 - g +
121/ FIL&dLE 118108 = 0.11 = hR +
122| 2 T 2E 11R108 - 0.14 - thf =
123 FLERAE 118108 = 0.07 - hR B
124 TyREAONE 118108 N 0.08 - s =
125 HEBELE 118108 = 0.14 - thf =1
126| AR AE 118108 - 0.14 - | EEEIBEIRIS R +
127k FIR35 118108 = 0.10 - thf o)
128 PIFrERAXLNE 118118 - 0.14 - th +
129 AL & R R A E 1MA1H - 0.11 - thf =1
130/t & 55 N E 118118 - 0.12 - thg =
131t 565 E 1MA1H - 0.14 - R =1
132|i#dE75 2 E 118118 - 0.15 - hf =1
133| BFAELE 1MA1H = 0.11 - thf =1
13| HF FEL OBV S 1MANA N 0.08 - e EL FRI7ILE
135 R 5D Y LE 118118 = 0.14 - b 3t
136 FiREE SR AR 11A11H - 0.14 - P -2
137 #EYETELDHV IS 118118 - 0.07 = R *
138| HFAR N E 118118 - 0.14 - #‘EAEAO T REE
139t BEISAE 1MA1H - 0.10 - thf =1
140t B4 1 E 118118 - 0.14 S E 33 =R C By "
141t E25 1 E 1MA1H - 0.11 - R e
142/ &35 E 11A118 - 0.11 - thf =3
143t B 15 2E 1MA1H = 0.12 - thf =1
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_ BEE _ .
&5 g% BIER BIEIZAT | HiEOIREE
Tm 50cm 5cm
144t B8 E L E 118118 - 0.14 - hf =1
145 ik Z RIE LA E 11A118 - 0.11 = b B
146 | PlRFRIAE 118118 - 0.13 - thf =1
147 HlEs R ENE 1MA1H = 0.14 = 2eF 3 "
148 i 1R B 3t 1MANHE - 0.12 - th *
149 | FIIR )PS5 E 11B118 - 0.11 - th =
150 [REBESLE 11A118 N 0.13 - thf =
151 | FEAFT AR HAE 118118 = 0.12 = thg - o
152 F AR & N E 1MANH - 0.08 - HERHR +
153| ED A E 118128 - 0.12 = eF 3 =
154 FIRBEF 2~ E 1181208 - 0.10 - thf x
155 | T A8 15 4> Bl (G AS 38 I 6k 3 ) 118128 - 0.12 = b B
156 DE VDL E 118128 - 0.16 - g "
157 FDAE 11A12H = 0.16 = ik "
158 TR IBRELE 11A11H - 0.07 - R =
159 IAEBHELER 11A11H - 0.11 - P S SR
160 FiIARCSLAE 118118 - 0.09 - thf =
161 FIRDY DR AE 118118 = 0.12 = hh B
162 HRFRTOALNE 1MANH - 0.13 - g "
163 I ARBZLE 118118 - 0.11 - th =
164 FIAKIR T AR 118128 - 0.12 - th =
165 | # AR E i E 118128 = 0.12 = thg FAI7IVE
166 |t /RHFE N E 118128 - 0.14 - g "
167 |t /RHE AN E 118128 = 0.10 = hR +
168 LI F &L DU 5 11R118 - 0.10 - hR +
169 ;EHD 2 E 11R128 - 0.14 - th g +
170\ =/ HLE 1181208 - 0.12 - th B
171 fiEm B 11A8128 = 0.16 = ik B
172 KE 2 E 118128 - 0.11 - hR *
N 173| FIHFI A E 118128 = 0.13 - 2P 3 =
174 Tk 1 S2E 118128 - 0.07 - th g +
PR 175 TR ANE 11A12H8 - 0.11 = b B
Vol 176 #7124 E 118128 - 0.12 - g =
A 177 BE AR 118128 - 0.1 - CE &
ih ™ ETHEAR 118128 - 0.06 - R =
B3 179 Z 3 ENE 1181208 - 0.11 - R B
N (0 = TEAE 118128 - 0.14 - ik =
181 REF A E 118128 = 0.11 - EE{hA +
182| FHI&E252E 118128 - 0.09 - [R5 R (T D) =
183| EFIE 3T LAE 118128 - 0.13 = eF 3 =
184 EFIE 451 E 118128 - 0.11 - R =1
185| EFIB 15 AR 1181208 - 0.10 | FR (SR R B
NI 186\ 7k A E 118128 - 0.07 - thf +
187 i Bl A E 1A 128 = 0.12 - i +
A 183 IEEETFELOEVE 118128 - 0.08 - EE{HA T
?;E 189 fiiE25 A E 118128 - 0.13 = R x
IR 190 #2552 E 118128 - 007 - ik B
S 191 AEEEAE 118128 - 0.12 - hR B
el 192 fiEKRELNE 118128 - 0.07 - R *
193| FtcBERT T A 118128 - 0.09 = eF 3 =
194| F{EBRL1 B N E 118128 - 0.11 - th =
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[BEHI]u Sv/h
GAlE#EE]1 VU7 /LA £ 4 A2700

S HlE S
N fok WER FEE MRS | HEOKE
m 50cm 5cm
1| BARER RS (HEYDILE) 18198 0.11 0.12 0.12 thf Bz
2| AARMEE L IE (RR—YLE15) 18198 0.10 0.10 0.10 g +
3 BBRFHOETIKE 18198 0.05 0.06 0.04 | ABEAYRA—RfHiE +
4| LA D F F ki 18198 0.10 0.10 0.11 EepS "2
5 ARE D EEFIKG 18198 0.07 0.06 0.07 | AU RAR— 4k +
6| ShbLFrvrT5 1819H 0.12 0.13 0.14 th g B.Z
7 IR SR B k5 18198 0.07 0.08 0.08 | LAV RR—R{Fif +
8| LT £ BHEEN L5 ([515) 1A19H 0.11 0.11 0.12 g Y2
9|tk T % B REBNL 15 (B &5 R BIA) 1A198 0.09 0.14 0.14 B3] -2
10 T RIAHEE (KRBT 18198 0.07 0.09 0.08 EAES K] 1o8—OyExLy
" RAFEE (Fki5) 18198 0.08 0.07 0.07 | AU RAR—R ik +
12 TRAFE(T=Ra—H) 18198 0.09 0.09 0.10 AOftik BANIZ
13| FARIINP S 52 E (BrEkiz) 18198 0.10 0.12 0.12 R F2
14| FIFRNP S0 S0 E (Yvh—15) 18198 0.10 0.10 0.09 Hhg "2
15| HARNID S S E (FT7Rn—F HEEEI—R) 18198 0.11 0.12 0.13 eF 3 -2
16L& R AR (FFEkIZ) 18198 0.05 0.06 0.06 | AU RR—R{Fif +
17/t Eh R AR(T=R3—F) 18198 0.08 0.09 0.08 thf &
18 FHBAR(T=Xa—H) 1A19H 0.15 0.18 0.19 AL {ta d
19| 4 LH Z BEB LG ZEDLRE) 18198 0.17 0.19 0.18 thg -2
20| < LE & BB B G (RAR—Ya—h) 18198 0.22 0.22 0.22 thR AR—ya—K
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